


𝑆 = 𝑓(𝑠, 𝑐, 𝑜, 𝑟, 𝑝, 𝑎, 𝑛)



 

  

  



 

 

 

 

 

 

 

 

𝑆𝑂𝐶 [%] =  
𝐻𝑢𝑚𝑢𝑠 [%]

1.725
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https://biodiversitymonitoring.ch/index.php/de/
https://www.bfs.admin.ch/bfs/de/home/statistiken/raum-umwelt/erhebungen/area.html


https://www.meteoschweiz.admin.ch/home/klima/schweizer-klima-im-detail/raeumliche-klimaanalysen.html
https://www.meteoschweiz.admin.ch/home/klima/schweizer-klima-im-detail/raeumliche-klimaanalysen.html
https://nabodat.ch/index.php/de/
https://www.swisstopo.admin.ch/de/wissen-fakten/topografisches-landschaftsmodell.html
https://www.swisstopo.admin.ch/de/wissen-fakten/topografisches-landschaftsmodell.html
https://www.wsl.ch/de/index.html

